M2022548 A%

RFEFHREIFHRE (E) APERERN]

(1B LrIEARTE)
ol

R4 ' x4 BRAR | SHER | oz | span | anay | Aren
(b/a)

BEIRFEL 66 130 20 129 82 78
BRI TIFER 90 120 1.3 115 101 89
N |HEEEEES RT LAFER 63 86| 14 85 68 64
o O|IAREIXER 81 96 1.2 96 90 75

Hi 300 432 14 425 341 306

BIRFEL 44 65 15 64 61 60
#[EHR- v IRER 60 8l 14 81 78 75
%}‘Q HEMANEEY AT LR HEI 42 61 15 61 59 59
HOEBREIYHER 54 43 0.8 43 43 40

Hi 200 250 1.3 249 241 234

2t FHRFER ET4 1 — 1 1 1
= [BHR- TV —IIFER T4 2 — 2 2 2
AN |BHEEES R T LRER ET4 0 — 0 0 0
J_\t ARETIZER ET4 i = i 1 1
Hi =ET4 4 — 4 4 4

& &t 500 686 - 678 586 544




(B LR EAERTE)

it
R4 ' x4 BRAR | SHER | oz | span | anay | Aren
(b/a)
BHRFELR 7 7 7 6
_ |ER- LTI HEER 11 11 11 10
9% |BEMAIRE D R T LEEHIK 59 8| 06 8 8 7
A |[EgEIyER 10 10 10 10
P KR ATATEU T HRER 1 1 1 1
it 59 37 0.6 37 37 34
" BHRFELR 4 4 4 4
= [BHR- TV —IIFER - 1 1 1 1
N eI ATA ) 2 2 2
§ ABETPER i 1 i |
Hi =T4 8 - 8 8 8
& &t 59 45 — 45 45 42




